


3a2(4ab2 — 3b3) — (15a3b2 + 5a2b3) =

4x3 — 2x(5%* — 6xXy) — 4x*(5X — 3y) =

8ab — 6a(4a — 5b) — 20a2 =

5x%y — (4xy3 — 3x%y?) : 5y + 3x(y3 — 2xy?) =
12a3b2: 4ab — 2ab(3a — 5a3b) — 10a4b? =

15x5y*

5x2y

(X3y2)3 : X4y2 - 5 4X2y =

4

(a5b3c) - a2c3(4a%c — 5ab3ce) =

a3b3

x4yS 2
(x3y3) - 5x2y3 + (3xy? — 3y4) - 4xy* =



Vzorce usnadnujici apravy vyrazu

O




Vyrazy — komplexni priklady

O

1) 3a2(4ab2 — 3b3) — (15a3b2 + 5a2b3) = 12a3b? — 9a2b3 - 15a3b? - 5a2b3 = - 3a3b? - 14a2b3

2) 4x3 — 2xX(5%2 — 6Xy) — 4x2(5X — 3y) = 4x3 — 10x3 + 12X2Y — 20X3 + 12X2Y = - 26X3 + 24x%Y
3) 8ab — 6a(4a — 5b) — 20a2 = 8ab — 24a2 + 30ab = - 22ab - 24a>

4)  5x%y — (4xy3 — 3%%y?) 1y + 3x(y? — 2xy?) = 5x%Y — 4xY? + 3x°Y + 3xY* — 6x°Y? = 8x%Y - XY —
6x2y2

5) 12a3b2: 4ab — 2ab(3a — 5a3b) — 10ab2 = 3a2b — 6a2b + 10a+b? = - 3a2b + 10a+b?

6) (X3y2)3 X4y = 5x_2 . 4X2y = x9y6 < x4y2 — 3x3y3 . 4x2y = x5y4 — 12x5y4 =-11 x5y4

553\ %

5a3b3c4

2
8) (x4y5) - 5x2y3 + (3xy? — 3y4) - 4xy? = (xy?)? - 5x%Y3 + 12x°y* — 12xy° = x2Y? - 5x%Y3 + 12x°Y?

x3y3




(X +y)2=X2+ 2Xy + y2

(r—s)2=r2-2rs+ s?

x+y) - x—-y)=x2-y?

(a3 — b2)? = a® — 2a3b2 + b4

(4x3 + 7y°) - (4x3 - 7y°) = 16x° — 49y*?

(529 — 6b4) - (529 — 6b4) = 25218 — 60a%4 + 36b8
(10x4 + 8y°) - (10x4 + 8y5) = 100x8 + 160x4y° + 64y2
(9a® + 5b9)2 = 81a'2 + 90a’b? + 25b*®

(2X7 — 5y°) - (2X7 + 5y5) = 4x4 — 25y12



